EARAROBEEIERT — 2 N— IBISH —F

2014558158 (k) SEIEIMH2H

B C3— H5R4mE B R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s > TERE 132. 22— . — HEM—A (EH)
leliolu7—K352 752 4| BB 1(3_2)1 2-2-2-2 | 39.5 1 :1_124) EEP@&E
L2y T b A—Fr—K—F B:UT—RNTq1> HSH5
5 o = B4 | BEHT 1:32.3 3-3-3-3 [39.5| — 7 420 | EMEIE (FEH)
2| 11| 7YY= bi=X 54.0 11/ o) | FEHE
L:7I7V—h BV -T FT TAZRHS
ritEd : —5-5- — FHEILE (FEHHR)
3l7/g|/NA—TT7z7 b A 1(73%:;1 M R ’ :?12) St
L:xrin14n0— BR—-<rH—-) fiigizae]
_ . 4 4 | WUEHEX 1:32.6 1=1-1-1 | 40.2| — 5 415 | EEHES (EB)
47| 7| ATFFRLR el (11/2) 43 | B TATr—
R:T7RI14Y2y 7R B:xFhXLE ARETa—T7— LA
< o £ 4 | AHfE 1:32.7 7-6-7-6 | 39.7| — 8 442 | BEiEE (EH)
5 3 SAYINT— - 56.0 (1/2) +1) ﬁ;ﬁﬁ;fg
L:70%x BgsI/E YT il e
“ 5 # 6 | NERAF 1:32.9 4-4-4-5 | 40.1| — 4 445 | REE¥ER (ER)
6 6 R AV & s (3/4) o |FBHE
LixA1=Tr7—2R BRIV F 4RI LIHhITy7—L
. JIERE— -32. -8-9- 4| - WAz (ER)
; NEZZNTE: B4 = 1(/%? 9-8-9-7 |39.4 2 12(7); WA
R:xA21ZG7—2 B:HYLFIvR J=HrTr—LA
. #o4 | EREE 1:33.1 8-8-8-9 (30.8| — | 6 | 478 |ABE= (EE)
g|8|o| hFxFR—A 8.0 (1172 () |AMEE®
R:TIFAT7LXE24 L B#:5Ey hOXE F 4
N EREE 33, -10-10- 8| - #HERS (EM)
9 NLEYIVEP 4 6 i 1(343)8 10-10-10-10| 39.8 10 :1+ss12) ZmEe
R:4v2YIAL BRALLFY A—ZAENTZT AL K
= =5 4 9 | HEE 1:33.9 6-7-6-8 | 40.9| — 9 459 | EERiEXK (FEl)
10/5(5|B—7>ETFZ 8.0 (7€) o |BHERE
:J4 9 N)—2E-F B:O-F>Y/T7—-X B —=
® 1—F—@EBIERL
12—7+— 7,10,1,6,8,5,3,9,4,2
239—5+— |7,10,1,6,8,3,5,(4,9),2
§a=7r= 7,10,1,6,8,5,3,9,4,2
40 —F— 7,10,(1,8),6,3,4,5,9,2
[ N5
B 10 210H 714K 1-10 610M e E 1-8 1,680 JEE 1-8-10 2,010M
B B 10 130 8-10 260 B = 1-10 1,350M JEE 10-1-8 7,900
1 480 1-8 1,500 B H 10-1 2,420M
8 230M

ABICOVWTRDTEEERROODE. TR LIV,




